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856x2y3       AND 1200x4y2
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3x + 10xy ­ 7xyz
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3x + 10xy ­ 7xyz

3x + 10xy ­ 7xyz
3x
10xy
7xyz

    3 . x
2 . 5 . x . y 

7 . x . y . z

We need 
to factor
out an
 "x".
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x6  +  x5
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x6  =  x . x . x . x . x . x
x5  =  x . x . x . x . x  

x . x . x . x . x = x5

x6  +  x5

Take out the greatest common factor, which will be the 
smallest of the like powers!!
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14xy + 28xyz
14 = 2 . 7 . x . y
28 = 2 . 2 . 7 . x . y . z
2 . 7 . x . y = 14xy
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1.     a5c6z11 + a9c10z13

2.        25x7 ­ 15x5
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4.   13x2y5w3_ 39x5y2w + 26x3y

3.      12x7y8 ­ 24x9y4
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5. 91x ­ 7y

6. 2x5y3 ­ 8x2y2 + 10y
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